
     
 

 
 

   

 
  

TREASURY POLICY 
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12mt-Liquidity Stock = 

𝐶𝑎𝑠ℎ + (𝑃𝑙𝑎𝑛𝑛𝑒𝑑 𝑐𝑎𝑠ℎ 𝑖𝑛𝑓𝑙𝑜𝑤𝑠 − 𝐶𝑅𝐻) − 𝐶𝑎𝑠ℎ 𝑜𝑢𝑡𝑓𝑙𝑜𝑤𝑠 +  (𝑆𝑒𝑐𝑢𝑟𝑖𝑡𝑖𝑒𝑠 − 𝐿𝑅𝐻)  

CRH = Credit risk haircut  LRH = Liquidity risk haircut    Securities excluding encumbered securities 

 

 

 

Standard & Poor's: 1yr-Liquidity Stress Test = 

(𝐴𝑠𝑠𝑒𝑡𝑠 𝑚𝑎𝑡𝑢𝑟𝑖𝑛𝑔 𝑤𝑖𝑡ℎ𝑖𝑛 1𝑦𝑟 − 𝐶𝑅𝐻) + (𝑆𝑒𝑐𝑢𝑟𝑖𝑡𝑖𝑒𝑠 𝑚𝑎𝑡𝑢𝑟𝑖𝑛𝑔 𝑎𝑓𝑡𝑒𝑟 1𝑦𝑟 − 𝐿𝑅𝐻) 

𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠 𝑚𝑎𝑡𝑢𝑟𝑖𝑛𝑔 𝑤𝑖𝑡ℎ𝑖𝑛 1𝑦𝑟
 

CRH = Credit risk haircut  LRH = Liquidity risk haircut    Securities excluding encumbered securities 

 

 

Moody’s: 18mt-Liquidity Coverage Ratio = 

𝐻𝑖𝑔ℎ 𝑞𝑢𝑎𝑙𝑖𝑡𝑦 𝑙𝑖𝑞𝑢𝑖𝑑 𝑎𝑠𝑠𝑒𝑡𝑠 

𝑁𝑒𝑡 𝑐𝑎𝑠ℎ 𝑜𝑢𝑡𝑓𝑙𝑜𝑤𝑠 𝑤𝑖𝑡ℎ𝑖𝑛 18𝑚𝑡
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